DO -3<x<3 @)-3<x<-2 ® -3<x<2

@ -2<x<2 ® -1<x<-2

¥ -9<0 0
X2 -2x-8>0 ---(h
EhelA (x+3)(x-3) <0
L=3<x<3
LHONA (x+2)(x—4) =0
LX< 2EE=x>14
et 35 W9E Fot

-3<x<-2




RE A5 xo et a(x® +2x+2) > 222 +4x + 57t AHT W a
o] &3S FotH?

®-1 @0 ® 1 @2  ©)s

~&B

a(x* + 2x + 2) > 2x* 4+ 4x + 5°lA]

(@a-2)x* +2(a-2)x+ (2a-5) >0

o] L= A xof tiste] JHsfof stE =
a-2>0--- 9

i 4 gz (a-2)2-(a-2)(2a-5) <0°|E=&

a® —4a + 4 - (2a* - 9a + 10)
=a?>-4a+4-2a%*+9a-10
=-a*+5a-6

= —(a® - 5a +6)
=—(a-2)(a-3)<0

Al (a—-2)(a-3) 2 00|22
a<2XE+=az23--- ©

Q, ©°M a>3

urebA o of | 5gh2 3




3.

OJAHREA X +2x+a < 09

Fatolat (2 a =A%)

> E.

> ™. -8

N7t -4 <x<2d o, a9 S

B

W7t -4<x<20]B2
(x+4)(x-2)<0

P 4+2x-8=x>+2x+a
Soa= -8




x 9] OIAFL A ma? 4+ 2(1 - 2m)x +m = 0°] AE OHE F AL
7H m o] M5 FohH?

1 1
®O<m<§ @m<§,m>l

1
®Yym <0 0<m<§,m>1 @ m<0,m>1

O|AFFAAOIERZ 20 ---O)
= (1 = 2m)2 —m? > 09|~

1
(m=-1)83m—-1) >0, m< g, m>1 ---©

1
@, 04 m<o0, O<m<z, m>1




T %‘% LA y = mx + n ¥} o]2}
1

24 bx+ 094 JjEolnt. o

@ AR
2
{yax +bx+c o] Fo
X

y=mx-+n
:—4,y:49—}x:1,y=0

[¢]

I/\ Olﬂ _V|L

|
ax® +bx+c>09 =
T>=x>10|th

2 ax? 4+ bx +c <mx+n2
-4<x<1o|th

y = ax? + bx + c A

Al
Al
-3

1

i
-+

® © o
2t % o

-,
) l‘h‘ ol

)

y =mx +n A
ot}

®
I o °
5~
cnu;_l’;

1 @271 O34 @4711 ® 57

~&B

@ BAH ] AT shelet () y

@ 9 A Ho] Pk =, 4 < )
x<1
@, @ BA (-4,4)(1,0) & A}= 4 % Y0

,'l__ o ) T 1 T
A o] %/\

WAL Foh
4-0

4 4
y=( Jat+d)+d=—pxt¢

AR Aol 5t A A

—

o Wy gom

4 4
ax2—|—(b—|—g)x—|—c—g =a(x+4)(x-1)

= ax® + 3ax — 4a

4 4
= b+g=3a, c—g=—4a

a3 o) ARHE (-3,0) & AUz
9a-3b+c=0
A Al A Aot a =

L D.0,.0,6:F

4
5




